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Eduqas GCSE Sociology - Component 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 8758 3.3 0.8 4 83 100
2 8757 7.1 1.6 9 79.4 100
3 8749 6.3 2.3 10 62.7 99.9
4 8751 16.6 6.2 29 57.3 99.9
5 8737 15.4 5.8 30 51.5 99.7
6 8692 8.5 3.9 18 47.1 99.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 5 (c) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3  


8 4 4  


 
Explain how material factors may affect achievement in education. [8] 
 
You should explore at least two ways in your response. 
 
Band descriptors and mark allocations 
 
Note – a response which does not attempt to explore at least two reasons cannot be 
awarded higher than Band 2.  
 


 AO1 1a & 1b 4 marks  AO2 1a 4 marks  


BAND 4 


A coherent answer demonstrating 
detailed, relevant knowledge and 
understanding of at least two ways 
material factors may affect 
achievement in education. There will 
be evidence of appropriate and 
sustained sociological language, and 
concepts are described in detail.  


4 


Knowledge and understanding of 
relevant theories/concepts/ evidence 
for two ways is applied and used to 
explain accurately and in detail how 
material factors may affect 
achievement in education. The 
explanation will be fully developed.  


4 


BAND 3 


A coherent answer demonstrating 
mostly detailed, relevant knowledge 
and understanding of two ways 
material factors may affect 
achievement in education, though one 
way will be described in less detail 
than the other. There will be evidence 
of mostly appropriate sociological 
language and concepts, but these are 
not sustained throughout.  


3 


Knowledge and understanding of 
relevant theories/concepts/evidence 
for two ways is applied and used to 
explain accurately how material 
factors may affect achievement in 
education. The explanation will be 
partially developed as one of these 
ways will be explained in less detail 
than the other.    


3 


BAND 2 


Answer has some coherence, 
demonstrating partial knowledge and 
understanding of two ways material 
factors may affect achievement in 
education, though with some 
inaccuracies/ irrelevancies, or detailed, 
relevant knowledge and understanding 
is demonstrated, but only one way 
material factors may affect 
achievement in education. There will 
be limited evidence of appropriate 
sociological language and concepts, 
with little detail. 


2 


Knowledge and understanding of 
relevant theories/concepts/ evidence 
for two ways is applied and used to 
explain how material factors may 
affect achievement in education. 
There will be some development in 
the explanation of both these ways 
with limited detail and some 
inaccuracies, or one way only is 
applied and used to explain 
accurately and in detail how material 
factors may affect achievement in 
education.  


2 


BAND 1 


Answer demonstrates only basic 
knowledge and understanding of 
way(s) material factors may affect 
achievement in education. There will 
be little, if any, evidence of sociological 
language and concepts. 


1 


Application of knowledge and 
understanding to explain ways 
material factors may affect 
achievement in education will be 
limited. Any explanation will be 
undeveloped and contain 
inaccuracies. 


1 


 Award 0 marks for incorrect or irrelevant answers  
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Indicative content 
 
This content is not prescriptive, and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider in the explanation are:  
 


• material factors refer to money and what money can buy such as housing, health, food, 
equipment,  


• children from high income families may have many educational advantages such as 
tuition, equipment, computer, internet access, good housing, and diet 


• high income families may be able to afford private schooling or to move into the 
catchment areas for the ‘best’ schools 


• children from low-income families may not be able to afford equipment, tuition, internet 
access or spacious housing and a good diet  


• low-income families are likely to have little choice over which school they attend 


• children from low oncome families are more likely to live in unsatisfactory housing and 
have poor diets which may affect their health and attendance 


• credit reference to relevant sociologists  
 
  












Sticky Note

First paragraph offers useful commentary about material factors. The last sentence offers evaluation, but is not required. However, it does add to the explanation, although not fully developed or linked to the question.



Sticky Note

An interesting take on the question which allowed for more sociology. This could have been improved by more explanation of how material factors might lead to labelling. E.g. Not being able to afford school uniform.

However, this lifted it above many answers which focussed on common sense explanations or didn't understand material factors. Linking material factors to sociological ideas such as labelling or cultural capital was an effective way of answering the question.

AO1 3 - Mostly detailed relevant knowledge
AO2 3 = 6 marks. Explanations could have been developed further to reach top band.
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Sticky Note

This answer understood what material factors were and included a range of these. There was less explanation of how these actually affect achievement, therefore awarded

AO1 3
AO2  2 = 5 marks.
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Sticky Note

Two paragraphs with partial K+U and some application. There are two reasons but it is a very common sense style approach which lacks sociology.

AO1 2
AO2 2 = 4 marks
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Sticky Note

Candidates found it hard to apply sociology to this question. Reference to social class was credited on this answer.



Sticky Note

The second paragraph lifted this further and provided a sociological explanation. Another interesting take on material factors and linked to 'immediate gratification' which made this more sociological.

AO1 3
AO2 3 = 6 marks.
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	 (c)	 Explain how material factors may affect achievement in education. 	 [8]


		  You should explore at least two ways in your response.
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Question 5 (d) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


15 4 3 8 


 
Discuss reasons why boys may not achieve as well as girls in education. [15] 
 
In your answer you are advised to refer to different sociological ideas and theories to 
support your judgement. 
 
Band descriptors and mark allocations 
 


 AO1 1a & 1b 4 marks AO2 1a 3 marks AO3 1a & 1b 8 marks 


BAND 4 


A coherent answer 
demonstrating 
detailed, relevant 
knowledge and 
understanding of a 
range of reasons 
relating to why boys 
may not achieve as 
well as girls in 
education including 
reference to two 
different sociological 
ideas. There will be 
evidence of 
appropriate and 
sustained sociological 
language, and 
concepts are 
described in detail. 


4 


There are no Band 4 
marks for this assessment 
objective 
 
3 marks are awarded as 
for Band 3 


A developed analysis 
and evaluation of the 
relative importance of 
a range of reasons 
linked to why boys 
may not achieve as 
well as girls. There is 
a sustained line of 
reasoning which is 
coherent, relevant, 
substantiated and 
logically structured to 
support judgements 
and a conclusion 
linked to the specifics 
of the question. 


7-8 


BAND 3 


A coherent answer 
demonstrating mostly 
detailed, relevant 
knowledge and 
understanding of 
reasons relating to 
why boys may not 
achieve as well as 
girls in education 
though some factors 
will be described in 
less detail than others. 
There will be evidence 
of mostly appropriate 
sociological language 
and concepts, but 
these are not 
sustained throughout. 


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence is 
applied and used to 
explain accurately 
why boys may not 
achieve as well as 
girls in education. 
The explanation will 
be well developed 


3 


Good analysis and 
evaluation of the 
relative importance of 
reasons linked to why 
boys may not achieve 
as well as girls in 
education. Lines of 
reasoning may not be 
sustained throughout 
but are coherent and 
relevant to support 
judgements and a 
conclusion linked to 
the specifics of the 
question.  


5-6 
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 AO1 1a & 1b 4 marks AO2 1a 3 marks AO3 1a & 1b 8 marks 


BAND 2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of 
reason(s) relating to 
why boys may not 
achieve as well as 
girls in education, 
though lacking in 
detail and with 
inaccuracies/ 
irrelevancies. There 
will be limited 
evidence of 
appropriate 
sociological language 
and concepts. 


2 


Knowledge and 
understanding of 
relevant 
theories/concepts/evi
dence is applied and 
used to explain their 
impact on why boys 
may not achieve as 
well as girls in 
education. The 
explanation will be 
partially developed 
as some of these 
factors will be 
explained in less 
detail than the others 
and with inaccuracies 


2 


A partial analysis and 
evaluation of the 
importance of 
reason(s) linked to 
why boys may not 
achieve as well as 
girls in education. Any 
judgement or 
conclusion will be 
superficial.  


3-4 


BAD 1 


Answer demonstrates 
only basic knowledge 
and understanding of 
reason(s) relating to 
why boys may not 
achieve as well as 
girls in education. 
There will be little, if 
any, evidence of 
sociological language 
and concepts. 


1 


Application of 
knowledge and 
understanding to 
explain the impact on 
why boys may not 
achieve as well as 
girls in education will 
be limited. Any 
explanation will be 
undeveloped and 
contain inaccuracies 


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question.  1-2 


 Award 0 marks for incorrect or irrelevant answers 


 
This is an extended response question where candidates are expected to draw together 
different areas of knowledge, skills and/or understanding from across the relevant 
specification content. They should construct and develop a sustained line of reasoning which 
is coherent, relevant, substantiated and logically structured. 
 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the highest 
marks in AO3, answers should make a judgement on the differing ideas and come to a 
conclusion.   
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Indicative content  
 
This content is not prescriptive, and candidates are not expected to refer to all the material 
identified below. Credit will be given to the effective use of supporting sociological evidence. 
Some of the issues to consider are:  
 
changes in the position of women 


• changes in the workforce leading to women working 


• changes in employment laws introducing equal opportunities and equal pay  


• changes in norms and values around family life such as later age of marriage, increase 
in singlehood making it easier for women to work 


• changes in girls’ priorities 
 
changes in schools 


• National Curriculum: girls in state schools follow same curriculum as boys 


• programmes to encourage girls into science and technology 


• more female head teachers to act as positive role models 


• feminisation of schools such as introduction of coursework 
 
boys’ subcultures 


• formation of laddish subculture encouraging boys to be ‘cool’ and masculine 


• boys more likely to want approval of peer groups than teachers 
 
crisis of masculinity 


• decline of traditional male jobs 


• change of male role in family leading to insecurity among young males 
 


• credit reference to ideas and research  
 
debate: 


• relative importance of reasons why boys may not achieve as well as girls in education 


• areas in schools where boys are achieving better than girls in education 
 
  












Sticky Note

Sociological K+U shown with use of Paul Willis and the anti-school subcultures he studied.



Sticky Note

Uses sociological language







Sticky Note

Overall this answer showed enough sociological knowledge to receive all 4 AO1 marks. Studies and concepts are used to explain accurately why boys may not achieve as well as girls. Lines of reasoning were not sustained, but are coherent and show good analysis. The sense of discussion could have been developed further to achieve further marks. 
AO1 4
AO2 3
AO3 6  =13 total



Sticky Note

Uses connectives to create sense of discussion.



Sticky Note

Good summary sentence at the end of a strong paragraph, again with lots of sociology. The linking of ideas here shows a sociological imagination which we appreciated.
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Sticky Note

Knowledge shown here although partial and some confusing of different studies.







Sticky Note

AO1 2
AO2 2
AO3 3   = 7 marks

This answer was seen to present some sociological K+U but was not always well applied. Superficial judgement but some attempt made.
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Sticky Note

Not clearly logical.



Sticky Note

Partial K+U applied but with little detail.







Sticky Note

AO1 2
AO2 2
AO3 2 = 6 marks

There is some partial knowledge but generally not detailed enough for Band 3 and limited analysis/evaluation.
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	 (d)	 Discuss reasons why boys may not achieve as well as girls in education.	 [15]


		  In your answer you are advised to refer to different sociological ideas and theories to 
support your judgement.
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Question 6 (c) 
 


Mark allocation: AO1 1a&1b AO2 1b AO3 1a & 1b 


12 4 4 4 


 
Discuss the strengths and weaknesses of using observation in research. [12] 
 
You should explore at least two strengths and two weaknesses in your response. 
 
Band descriptors and mark allocations  
 


 AO1 1a & 1b 4 marks AO2 1b 4 marks AO3 1a & 1b 4 marks 


BAND 4 


A coherent answer 
demonstrating 
detailed, relevant 
knowledge and 
understanding of at 
least two strengths 
and two weaknesses 
of using observation in 
research. There will 
be evidence of 
appropriate and 
sustained sociological 
language, and 
concepts are 
described in detail.   


4 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence
/methods is 
applied and used 
to explain 
accurately and in 
detail their impact 
on the strengths 
and weaknesses 
of using 
observation in 
research. The 
explanation will be 
fully developed.  


4 


A developed analysis 
and evaluation of the 
strengths and 
weaknesses of using 
observation in 
research. There is a 
sustained line of 
reasoning which is 
coherent, relevant, 
substantiated and 
logically structured to 
support a judgement 
and a conclusion 
linked to the specifics 
of the question.  


4 


BAND 3 


A coherent answer 
demonstrating mostly 
detailed, relevant 
knowledge and 
understanding of the 
strengths and 
weaknesses of using 
observation in 
research, though 
some will be 
described in less 
detail than others. 
There will be evidence 
of mostly appropriate 
sociological language 
and concepts, but 
these are not 
sustained throughout. 


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence
/methods is 
applied and used 
to explain 
accurately their 
impact on the 
strengths and 
weaknesses of 
using observation 
in research. The 
explanation will be 
partially developed 
and some of these 
will be explained in 
less detail than 
others.    


3 


Good analysis and 
evaluation of the 
strengths and 
weaknesses of using 
observation in 
research. Lines of 
reasoning may not be 
sustained throughout 
but are coherent and 
relevant to support a 
judgement and a 
conclusion linked to 
the specifics of the 
question.  


3 
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 AO1 1a & 1b 4 marks AO2 1b 4 marks AO3 1a & 1b 4 marks 


BAND 2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of 
strengths and 
weaknesses of using 
observation in 
research though 
lacking in detail and 
with inaccuracies/ 
irrelevancies. There 
will be limited 
evidence of 
appropriate 
sociological language 
and concepts, with 
little detail.   


2 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence
/methods is 
applied and used 
to explain their 
impact on the 
strengths and 
weaknesses of 
using observation 
in research. There 
will be some 
development in 
the explanation 
but with limited 
detail and 
inaccuracies. 


2 


A partial analysis and 
evaluation of strengths 
and/or weaknesses of 
using observation in 
research. Any 
judgement or 
conclusion will be 
superficial. 


2 


BAND 1 


Answer demonstrates 
only basic knowledge 
and understanding of 
strength(s) and/or 
weakness(es) of using 
observation in 
research. There will 
be little, if any, 
evidence of 
sociological language 
and concepts. 


1 


Application of 
knowledge and 
understanding to 
explain the 
strengths and 
weaknesses of 
using observation 
in research will be 
limited. Any 
explanation will be 
undeveloped and 
contain 
inaccuracies.  


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question.  


1 


 Award 0 marks for incorrect or irrelevant answers 


 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the highest 
marks in AO3, answers should make a judgement on the usefulness of questionnaires and 
come to a conclusion.   
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Indicative content  
 
This content is not prescriptive, and candidates are not expected to refer to all the material 
identified below. Credit will be given to the effective use of supporting sociological evidence. 
Some of the issues to consider in constructing an argument: 
 
Observation 
 
In terms of strengths: 


• observation allows the researcher to see the subjects of research first-hand and in their 
natural setting 


• researchers can develop a relationship with those studied which should encourage 
validity 


• if those observed know they are being researched in overt observation, ethical issues 
are reduced 


• covert observation may be the only way of studying deviant groups 


• researchers can see the world from the point of view of those researched 


• if those observed are unaware of the observation as in covert observation, they are more 
likely to behave naturally 


• award a distinction between covert and overt observation 
 
In terms of weaknesses: 


• observation takes a long time and usually only one group can be observed, therefore the 
research will not be representative 


• generalisation to other groups will not be possible 


• if the group know they are being researched as in overt observation, they may change 
their behaviour 


• covert observation raises problems of ethics as the people are being deceived 


• in covert observation, in order to remain covert, the researcher may have to take part 
in/witness illegal activities 


• the researcher may get involved in the group and begin to see things from their point of 
view 
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Sticky Note

Candidate does not use the concept of validity with any understanding.



Sticky Note

The Hawthorne effect is applied with some success.







Sticky Note

First weakness is much stronger and worthy of credit. Second weakness does not really make sense. The evaluation is also confused.

Some knowledge and understanding, but limited detail and some inaccuracies.

Overall this was awarded

AO1 2
AO2 1
AO3 2 = 5 marks.
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Sticky Note

Some Knowledge and Understanding applied in first paragraph. Limited evidence of sociological concepts and ideas.



Sticky Note

Limited application.







Sticky Note

Partial knowledge and understanding with some application of sociological ideas. Evaluation is only partial.

AO1 2
AO2 2
AO3 2 = 6 marks
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Sticky Note

Accurate use of validity in the first two paragraphs.







Sticky Note

This is mostly well detailed and has evidence of mostly appropriate sociological concepts. These are used accurately. No overall judgement/conclusion so AO3 Band 2.

AO1 3
AO2 3
AO3 2 = 8 marks.
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	 (c)	 Discuss the strengths and weaknesses of using observation in research. 	 [12]


		  You should explore at least two strengths and two weaknesses in your response.
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